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IR SETERAt 2 (What is Boolean algebra?) [3.-53]
iﬁmﬁ WS&W‘R f& | (Write down the Boolean postulates.)

[F7.-30; 5.-0b ; T.-0b, Y05 T.-0%, 08, 0Y; F.-00, 09; F.-0¢, 09; B1.-3)
o7, iﬁTﬂTﬂ SIS @M 8 erere fFawerar A '&? (Write down the rules of Boolean addition
and multiplication.)
AES o ¢ AGT 5 TE T (SFF P?  wag AGT o 8 AGE  IF (SO FTI B |

(How many volis are represented by logic (1 and logic [? or Write down the voltage level of logic 0 and
logic 1.)
n MNF LR v o fe-wgsimag KRS &1 (write down the De-Morgan's laws for n
number of Boolean variables.)
GARTCR 7 G WHE (AF ARANE QARG BTIZ I/ 39 | (What is encoder? Describe
an octal to binary encoder with diagram.) R4,

[@.-03, o: T-ob, 33; TM.-0d; Ul.-0o¢, 09, 5; ﬁ.-OQ. ovr|
G b (AT © GTITCR oz 3 57 | (Describe a 8/3 encoder with diagram.)
ferere 7 3 to 8 =3 errer fBasTg T 41 (What is decoder? Describe a 3 to 8 line

decoder with diagram.)
[F.-obr; B.-otr, 33; T.-ob; AL.-0; F.-0d, oY, ob; bl.-o¢, 0%; H,-08)

ooy, e AR § W ferarer Tore AR 3 ez 3w a1 [3.-53)
SIS Fr? AT SIICR ToE I WIS | (What is adder? Describe about half adder.)

[a.-09, 33; Tl.-ob, ob, d5; [.-08, o, d3: T.-0), 00; F.-03, o¢; F1.-03, ob; T.-03]
IooIET IETAT 21 (T AN a,’ (What is counter modulus or mode number?)
Gt » a6 faos seoIee 7157{ foumiz ey o9 | (Describe the construction of a 3 bit ripple counter

with diagram.) [.-ob; F.-0u:; |
et ¢ TCHIIT 9= o | (Write the uses of register and counter)

[.-09; B1.-09; T.-09; T.-03; A.-03; 5.-0)]
A B9 I FAGP oI NI IBITF 9 | (Simplify and implement logic circuits.)

(5) (BC +AD)(AB + CD) [61.-03) 30

(2) XYZ+XYZ+XYZ ®2 YZ+XZ

(©) (Q+R)(Q+R) s QR+QR I Q@R
(8) ABC+ABC+A TsC+A

(¢) ABC +ABC + ABC + ABC [7.-ob; 91.-03) T2 A®BOC

(v) ABC + ABC + ABC + ABC [5.-30, 33; fr-3%; 2-33] B3 AB+ BC+AC

(2) (A+B+C)+BC ®s C(A+B)

(r) BC+BC+BC 3 B+C

() (A+C)B+D) [61.-08) Ts AC+BD

(30) X+ Y(Z+X) [2.-09; 5.-04] ®3 XY



() alb+c@Fey Tsa+b

(3) c+b(a+bc) ©s abc
(30) RST(R+S+T) [5.-ov] ©3 RST
(38) (M+N)(M+P)(N+P) T2 P(M+N) At MP + NP
(5¢) AC(ABD) + ABCD + ABC ©s BC + AD(B + C)
(>v) (A+B)A+B+D)D 3 BD
(3a) ABCD B3 (A+B)C+D
(3») ABC+ABC+AC .-33] T3 C(A+B)
0| I F=XY + XYZ 2T S 499 32 (T, [3.-5», oY)

(1) F. F=0 (R)F+F=1
2 | fo-moiTaT et FRIET N T (@,

(%) (-ATB)('K"‘_B).= 0 [f.-50; 5.-03].
(R) A+AB+AB=1 [6.-0%; U1.-09; T.-09; F.-03]
X | AN B[ (Prove that) -
(3) (A+B)(A+C)=A+BC [2.-0v]
(R) A+AB=A+B [2.-3]
(©) A+A=1"
(8) A@B=AB+AB [5.-0%; B.-o¥; %.-0; -0}, ob; fA.->3]
(¢) AB+AC +BC=AB+AC [@.-33; Fi-3a)
(v) ABC + ABC + ABC + ABC = AB+ BC+AC [BT.-00, $3; T.-33)
Q) (X +Y)(X +2)(Y +2) = (X +Y)(X +2) [5.-04]
(¥) ABC+ABC+ABG+AC =C [o1.-00]
(» (A+B+C)BC = ABC [51.-335 F.-0 ; A.-0))]
(30) (x+y)(x+y) = xy +X¥ [o1.-08)
0| free Frmity ofee o I 39 | (Implement the logic diagrams for the following functions.)
(3) F=AB+BC +BC ‘ [51.-33; F.-08]

R)F=M+N+PQ

8| o TE oRe fw e wm _—
Ao FRMoER W a3
AREARA B | (Implement the logic
diagrams for the following logic
Junctions using NAND gates only.) -DO—}—}
(3) F(P,QR)=P+QR
3) F=AB+AB
® - >0 —))—4 F
(o) F=AB+ AB —

(8) X= ABC+AT+D



